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QP Code : 79684

(2 Hours) [ Total Marks : 60°
N.B.: (1) All questions are compulsory.
(2) All questions carry equal marks.

Attempt any two :—
(a) “Distinguish between stocks and flows.
(b) Differentiate between real and nominal national income.
(c) Describe a circular flow of national income in open econ&m;
Attempt any two :— ‘X\
(a) Describe the determination of equlhbnum output in ISn.,M analysis.
(b) Write a note on fiscal policy multiplier.
(c) -Explain the trade-off between inflation and uncmployment

Attempt any two —
(a)” ‘Balance of payment always balances’ -Dlscuss
(b) Explain automatic adjustments.
_(c> Explain monetary policy in IS-LM=BP model.

Attempt any twa :—
_ka) Write explanatory note on. gonsumptmn smoothing.
(b) Explain irreversibility in' mvestment
(c) Explain the Keynesiatf approach to the demand for money.
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